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A4
Water requifement of potato is -

(1) 900 - 1000 mm
(2) 450 - 650 mm
(3 500 -700 mm
(4) 1000 - 1200 mm

What is significance of wax application on
fruits? g

(1) Enhance appearance

(2) Reduce water loss

(3) Tncrease shelf-life

@) Al of the zbove

» T
A short duration pre-shipment or pre-storage

treatment practiced t0 git flowers is known
as — .

(1) Pre—cooling é

(2) Conditioning

(3) Pulsing

4) Impregnation

Who developed the ‘Experience cone’ to
classify audio - visual material?

(1) LK. Davis

(2) Edgar Dale

(3) N. Flanders

(4) Herbert

Name the tall breed of goat famous for good
i<

milk yield as well as meat —

3iTe], B ST & —
(1) 900 - 1000 .
(2) 450 -650 o,
(3) 500 - 700 f&Ril.
(4) 1000 - 1200 .
Bl 9% A T Bl TN Te< 87

1) fame # RN

(2) G DI &l HH B

@) Frm e § wEo

@) SRE T

i qui @ g e B ak & W -
Rl @ O — RSl SUER fF ST €
R B8l 9T © —

1) gd — Haed

(2) rIHRe

@) gt H

@)

e — G A B P BY oY FTE
Wi feas wRmfRa fear 82

1) . sfaw

TP B T Tl W W g ST 9
qiE gaed @ o o) o B e d 9
P AT B?

(1) Pashmina i) I

(2) Jamnapari 2) A

(3) Kashmiri @) TR

(4) Barbari ( 5 T
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6.  ‘Shoe’ is the part of - 6. T fhuer w2,
(1) cultivator (1) PEeR
(2) desi plough 2 < g
(3) mould board plough 3) PE geeT g
4) seed drill @ e o
7. Which one of the following is a Principle of 7. fy=fyRag & 9 BN W ey I
Classical Conditioning Theory? g a1 fam 82
(1) Principle of Prczximity (1) Tredr o7 frayg
(2) Principle of Closure ) o @t frem
(3) Principle of Extinction @) RS B frm
(4) Principle of Similarity @ T 1 P
8. ‘Pusa Himjyoti’ is variety of - 8 gmr @Fﬁ‘ﬁ% 'ﬁo_@f g -
(1) Tomato (1) eHex
(2) Cauliflower @ wEElh
(3) Potato 3 g
(4) Capsicum @ e B
9.  Planting of fruit plant by reducing their normal 9. qv_vl'q&ﬁ P IR BH T]D oM BT Ped
distance is called - ¥ - £
(1)  high density planting (1) =a 9g7 Juor
(2) density planting?‘ ) 99T oy
(3) normal planting @) MR Yoy
(4) abnormal planting_ . @) ST ey
10. The act of production of young on€ in goatis  10. gHd F TAFIGH BT SUGT FESAT g -
called - ¢
(1) Whelping 1 3T
2) Calving 2) i
3) Kidding K () THfE
(4) Al the three @) SR aFt
01- @ ‘Page 3 of 32




11. The cross of Fi hybrid with its homozygous 1L ST RIS oS B A T - 1 DX Bl
recessive parent is called as - HHROT el & —
(1) Reciprocal test (1) URERS THEeT
(2) Testcross (2) =< B
(3) Top cross 3) 0 @i
(4) Three way cross @ o 3w
12. Who founded the Indian Phytopathological 12. R wEeedifea QaEe B
Society? @I e 317
(1) Dr. B. B. Mundkur (1) <t 4L gSER
(2) E.J.Butler 2 % . SR
(3) Dr. K. C. Mehta @) =t & o Jgar
(4) V.P.Bhide @ & i
13. Which is intermediate day plant? 13. weadt udr wifere 9Er € —
(1) Sugarcane @O =
@ Potato o @) e
(3) Sugar beet ¥l 3) =X
(4) Soybean & @) <|rEE
14. Which goat breed has eaf’s like Deer? 14, I B T O e R 9N E -
(1) Jamunapari (1) AR
(2) Beetal @ dea
(3) Barbari 3) T
(4) Sirohi @ RRE
15. Which type of soil covers maximum area in  15. SIS 3 it &3 § gt oM 9en
Rajasthan? q€T B -
(1) Brown Sandy soil @) g Xl ga
(2) Blacksoil () el ga
(3) Sandy soil 3) E‘?j,_&: e
(4) Red Loamy soil @) o e war
16. Which of the following is:found in upper jaw 16, & # ¥ BN T el e I Y B
of ruminant animal? FU ES § T 87
(1) Dental pad 1) TUXE
(2) Canine teeth @2) @« 6
(3) Molar teeth @) =W
(4) Incisor teeth @) T
01- @ Page 4 of 32




. 17.  Which is the most useful earthworm used for 17. <oRY & T FURE 99 B 7T gaifes
i making vermicompost in Rajasthan? JUGET YA & —
(1) Eisenia 1) emsifEr
’ (2) Endogeic (2 Tils
‘t} (3) Epigeic 3) welw
t (4) None of the above @ s BIE T8
i 18. Development of motor skills depends on — 18. Hiex Bivet 1 e e o @ -
(1) Neuromuscular maturity 1) g i aRagear
¢ (2) Bone density and environment (2) aiRer T7=a vd yglaor
? (3) Neuromuscular maturity and @) =g e aRugEr T4 iR
[: environment @ SR Y P T
2 (4) None of the above
v:f 19.  Average age of cow and buffalo is - 19. T SR A ?'llvéfLGﬂ'ﬂ'ﬂ g T -
{ @) 1618 year M 16187
(2) 20-23 year 2) 2023 7§
] (3) 23-25year 3) 23-2539
4 25-28 year @) 25-28 7%
: 20. The length of estrous cycle in cow is — 20. Y H A5aE @) g & —
: (1) 2-8days 1 2-8fa=
: (2) 10-16days (2) 10-16fa+
] @) 18-24days @) 1824 R
} (4 26-32 days @ 26-32f
; 21. The transferring of young seedlings imto 21. a1 o By ?{\'\’;ﬁ\' TR § RIFEGRT F
3 another bed is called - HEART & —
: (1) Hardening off 1) E=EReT
(2) Pricking (2) SR
(3)  Thinning @) faxelieor
1) Nicking @) -3
22.  The process of parturition in cow is called as —  22. T § yug @ ThaT FEAR) & —
(1) Foaling 1) iR
(2) Calving Q) T
t (3) Lambing @) affT
F (4) Farrowing @ BRET ,
01- & Page 5 of 32
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3. Which of the following acid is more in sweet  23.. ISl Argerst # e ¥ 9 5w s o A
silage? Jifere B &7
(1) Acetic acid (1) uiafes et
(2) Citric acid (2) TEles I
(3) Lactic acid &) Sfres I
(4) Tartaric acid @) “TORT I
24. Which type of communication is good for 24. freie sifrmEdl @ A — IR B
adolescent learner as a teaching learning Ry 5 UBR BT GO 3T Tl 27
process?
(1) Printed material 1) 5% GlEED
(2) Conversation @2) ariend
(3) One way communication. (3) TH TRET THI
(4) Authoritarian approach @) SRFEdaKl SUH
25.  Where is the origin of ‘Karan Fries” cow? 25. EROT WIS TR @) SERT HEl ¥ g8 87
(1) TANUVAS, Chr_g_%nai @ ETTLGALTE, S
(2) KVAFSU, Bidar @) ATTETEY, TR
(3) NDRI, Karnal () TISIRANE., B
() College of Dairy‘Technology,Udgir @) e e ST Seieitel, SR
26. Who described adolescence as a particularly  26. e fginEen & wgan FE @ fog
crucial period for identity formation? Ry wu W AFEqel srafer & w9 # afti
e 27
(1) Stanley Hall 1 o B
(2) Erickson 2) TReEE
(3) Freud (3) TS
(4) Hurlock - @) 1L ]
7. Which of the options is studied in educational ~27. = # ¥ P ¥ fwen @1 oraae R
psychology? TREE § fpar o 87
(1) Caste, Intelligence,rl‘nterest,_ (1) i, 9iE, o, 3fwRen
Motivation
(2) Self — concept, Intelligence, Interest, @ o - Her, g v,
Motivation (3) fRiw, I — 9, g, SR
(3) Gender, Self — concept, Intelligence,
o @) SRR, A — WY, ARIRS
Motivation
(4) Motivation, Self — concept, Body [T, Bfe
structure, Interest
01- ® Page 6 of 32




28. Name™the satellite of India™which was 28. WRT @ TH TIE BT sy R
developed for educational purpose — B I B R Fq-q,-ﬁ:]% T T o7 —
Tt 17 (1) G-SET-14 (1) G-SET- 14
(2) INSAT-3A . (2) INSAT -3A N
'3) EDUSAT o (3) EDUSAT
4 HAMSAT ~ * @) HAMSAT
29, Which fruit belongs to dry aﬁsi hot climate? 29. EFTH’\‘:IT B Y Td TH Trlaﬂ'i'g Es ?‘IE@T‘T%\?
(1) Pineapple ‘(1) ST
(2) Pomegrarate (2 <FR
(3) Grape T (B) WR o
(4) Banana ! @ :WB :
30.  “Shorthorn’ breed of cow belongs to which 30, 7/ &) ?ﬁé%:f T o <@ Y 27
5  country? , " o IS
(1) England D 3’1?,]1:@&
(2) Denmark @) ST
(3) Holland 3) s
(4) Canada @) Tl { ' _
31.  Which of the foﬁowing cost curve is not ‘U°  31. &BH—T IFT T ‘U’ Tpfe BT T2 B ]
i shaped? . - 4 ﬁ
(1) AVCcurve ’ (1) TaA 9%
(2) ACcurve R (2) THEL T
(3) AFC curve - 3 Q’_'l;rq—j;‘\zﬁ'_ q5
4) MC curve @) W*\’ﬁ' a5 -
32, Whichis the se:condaryt nutrient? 32. fgidg dve qq@ § - -
(1) Sulphur M 1
(2) Phosphorus ~ (2) BRBHRY
(3) Boron (3) SRM
4) Zinc . @ Rfe ‘
01.‘9 Page 7 of 32 l




33. Which of the following is not the advantage of  33.

preparing Balance Shg%‘_?
(1) Provide information about present
position of farmq:cl.ssets. ‘J
(2) Provide information about liabilities
on farm.
(3) Provide information about profit and

loss on farm.

e 3§ ¥ P | ged - T B A el

14

(1) wE REERE & o e B
S B 21

@) B 9 SRR P Te T 5

@) B B A g BT WA g §

@) fram @ RiT ggew @ IR |

(4) Provide infonnat;,ion about financial ST Ta BT 2
soundness of the farmer.
34. The origin place of Tndian Aloe is - 34, TARUTST/ GAFARY PT SRS WT® ~
(1) North Africa ~ T ' (1) T BB
(2) Canada BT% 2) HAE
(3) India 1 3) W’q
(4) West Indies R, @) < ..
35. Where is the Prosepis cineraria based 35, wrairg ReRar smenRa a7 deelF wowen
silvicultural system prominent? HE WE 27 ,
(1) Humid and sub - humid regions (1) o &R quans &5
(2) Arid and semi — arid regions 2) T AR FE-TP a9
(3) Indo — gangetic plains @) g — T B e
(4) Coastal and Isl_ra;;d. gcgions @ T o D &=
36. Which of the following is not affecting factor ~ 36. frafafag § ¥ @9 W A%y IfBRw 51
of market surplus? I BX I BRE & 87
(1) Quantity of product 1) SEE B A
(2) Quality of product (2) SR B o
(3) Size of farm @3) T HT ATER
- (4) Size of farmer’s fg}nﬂy @ T GRAR T ATBR N
37. Who gave the ability.model of Emotional 37. WS glay BT A Hied e
Intelligence? .
(1) Goleman @ e
(2) Petrides (2) dfg=w
(3) Salovey and Mayer (3) HEd T TR
(4) Terman i @) <
01-® Page 8 of 32 e
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‘38.  An insect that is parasitic and lay its eggs on 38, TE P T oG €T | alw o Pl W
other insects, is called — S TaT %'ERK'IT g~
(1) Parasitoid M) e
() Predator ) uTwEh
(3) Spider mite () WS AEe
(4) Parasite. @ T
39.  Which is considered for partial budgeting? 39. iR sm-ra § Wi @ o € —
(1) Only fixed cost (1) % Rer @IrmE
(2) Only opportunity cost @ R SR AT
(3) Only variable cost 3) % T T
(4) Fixed cost and variable cost @ Rer @F &R =9 N
40. The process of gaseous exchange where 40. i RAFRR A ufirar R sifedior siqe
oxygen is taken in and carbon dioxide is &I Ol & AR BT SEefrags T gaq
liberated outside is called - Xl 2 FEaarS-—
] (1) Photosynthesis (1) ¥PTE Goagor
(2) Respiration Q) w@Ed
(3) Percolation 3 euF”
(4) Precipitation @ th;.\ 9
1 41. The poultry birds from a day old to six weeks 41. T&H 29 9§ 'E;b %!f)‘i?ﬂ'g S TP & T B gw
of age is called - FEATT § 1 2
(1) Layer ? @D TR
(2) Chick ‘ @ fe
(3) Pullet 3 3@3 i,
4) Grower @) TR
42.  Solar treatment against ‘loose smut’ of wheat 42. g & ‘g e & Reaw HR SUER H
was recommended by — Rl frdd gRT &1 71 o
(1) E.J. Butler 1 I 9 9
(2) M.K. Patel 2 TP 9
r (3) Luthra and his associates @) TP W S eI
(4) G. Rangaswami @ < ETreary

01- ® Page 9 of 32
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43. A Book “A study of thinking” is'written by~ 43. "% w & s, RifeT, gwe fore 8-
(1) Jerome Bryner (1) SIRH TR
(2) Joseph Schwab (2) WG &N
(3) Jerry Lucas @) 9 god
(4) Hilda Taba ( @) freer aor ; «
44. Average body temperature of Sheep is - 4. A< FT T IORE ToEE §
1 3¢ st 2 (1), 32%%. ;oo
(2 39°C @ 39° W :
(3) 42°C (B) 42 *
@ 36°C @ 36° 9 )
45. A small water storage structure for collecting 45. 3UaE id gahdl W P f:c‘fl'Rr TP BIE] oiel
and storing runoff wafbF is called.— * . YERUT EEAT BEA & ~ P .
(1) Farmpond & (1) oF qes
(2) Percolation wellfs @) i S Gl i
(3) Checkdam 7 . @) W i
(4) Minor itrigation tank- 2t @ g Rz 2 L
46. Which one of the following is not a factor that 6.  Fr=iferiad # & S 1 15 g2 @ AFNID
adversely affect the mental health of child? el &Yy T &9 gl SRS
(1) Excess of homework L] %?‘
(2) Fear of failure ‘riésultin; in tension ) w EE:I P t Ty
(3) 'Emotional stability of teacher @) 9N B =W J .\,’_cq,_;f EH'I“T:I
(4) Lack of friendliness on the part of 3) R @ HE 1%213?”
teacher @ Rt @ a9 ﬁa‘?ﬂ:ﬁ s
47. The ways in which tl:e message is hanc}led 47. ¥ W@ O QA TS G4 B o W
T beforeitis placed on the channel is called: T ff T S 8, 99 @ & -
(1) Treatment (1) e )
(2) Message mapping (2) g AR ‘ ,
(3) Timeline (3) T X e
(4) Delnonstration GY) LI .
01-® Page 10 of 32 - g




48. How Legans defined the needs of the people in ~ 48. M Y e wBR A SATETIHATN

the form of the difference between them? B 5P 94 ¥ SR & W § gRi frar
(1) & R E FHar & o @ 8
(1) Whatis, what could be and what ought - TRy
to be

@) -z, fwae sk wqfe
() WG, TN SR s
@ T P 8, B TEm ¥ R By

(2) Desire, conviction and satisfaction
(3) Strength, weakness and opportunity
(4) What to do, how to do and when to do

ST §
49.  Sindhuri (Bhagwa) is the variety of - 49. R (wran) feaa fe @2
(1) Ber O R®H
2) Lime @
' @ Aol @ e
(4) Pomegranate . @) SER P
50. Which of the following is not assigned work of ~ 50,  f¥wifoiRae 3 HlipIT AT TR & fafg
regulated market committee in Rajasthan? ARSI B Bt TS 'Y
(1) To provide transport facility from D) T 3 9P} 9% aRaeq e
village to mandis STl BIET
(2) To resolve conflicts of farmers and 2) FDI ;QT;];%Q‘UH‘ I} & REe
middleman Fuemr ]
(3) To provide modern storage facilities B By SIEL, BY AR wveRer
; for agricultural products gfrrr SYHE HAT
Z (4) Immediate arrangements are made for @ SN e YA B Tblel Feaeey
d the payment of produce BT ST B
| 51. The disorder characterized by abnormally low 51  SrrFgeE ke & ww A dfwmm @
F levels of calcium in the blood of parturient FAA F0 4 1 /R P ReEwar arer
: S a9t
E cattle is called — ﬁfm-\r T HE W —
4 (1) Milk — fever W 39 -
lr (2) Calf scour (2 PP WR
: (3) Mastitis @) oriem

(4) Ruminal tympany @ wfEe R

01- @ Page1lof32 ¢




52.

53.

54,

55.

56.

Pollinator variety of Aonla is - 52,
(1) Hathijhool
(2) Balvant
(3) Chakaiya
(4) Banarasi

Two or more chromosome replications without ~ 53.
the act of nuclear or cell division is called —

(1) Endomitosis

(2) Dizygotic twins

(3) Genetic drift

(4) Mitosis
e T
Which is variety of Khrg:rif Onion? 54,

(1) Arka Kalyan

i

(2) Hissar—2
(3) Udaipur — 102

(4) Early Grano

Which growth retardant is used for reducing the 55.
tree vigour in mango?

(1) Cycocel

(2) Alar

3) sabpH

(4) Paclobutrazol

Al

Advance organizer model of teaching is given 56.
by -

(1) Piaget

(2) Ausubel

(3 Suchman

(4) Bruner

3ifael B WAS 5eT & —

1) el

(2) FaIT

(3) B

@) SR

T T PR e @ R R ar |
3 ot [OREE TR BT HET SR & —
O IRSIE I

2) fEgee g

(3) SNFARE T

@) AT

e B @hF B 7§ -

(1) ST P

2 feaR -2

(3) SR — 102
(4 [t J9

a3 O W SAE B o @ fon fPa
g% RS BT SUHRT T W 27

@) NI

(2) AR

(3 TE.UEL T

@) UaeiggTa

fRrr 1 | Hiee uhmE e T
3

@ e

2) g

() I

@ TR
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‘F\ 57.  According to Lumsdaines’s view, which of the 57, AR P IR REr awdie ®

following is correct as approaches to Fr=TfoRaT o ¥ Sur ul) &7
Educational Technology —
(1) Hardware approach, software 0 ' M,
approach, general approach el ST
(2) Hardware approach, software (2) TSI SURM, WivedR T i,
approach, systems approach Rreed wurm

(3) Software approach, multiple (3) WITERR SUNH, Aeeiuel SUNT,
j approach, systéms approach Rees Summ
‘ (4) Hardware approach, multiple (4) TISRR SUNME, Fediel SUN,
Z" approach, general approach TR g-q-pm
{ 58.  Molya, a serious disease of wheat and barley in ~ 58. Ty, ToRen & g el 4 4 ek o
’ certain districts of Rajasthan is caused by - BT b TN I fhde HROT S5y 27
! 1
! (1) Fusarium oxysporum &
4§ Lusariim oXysporum (1) TGN iRy
A (2) Meloidogyne incognita ) ﬁ?l’lstﬂm?ﬁ TP
l (3) Heterodera avenae @) TR T
4) Pythium aphanidermatum *
‘ @ @ s gisfreien

59.  Ring formation on horns of buffalo starts atage 59, ¥ & €N W wea T I 8

of - F_
(1) 2years D 299 FIW W
@) 2.5 years @) 257 H | W
3 (3) 3 years @) 33 & v7 R
{ @) 3 years @ 5§ % vy w
60. Requirement of dry matter in food as per 60. T 4% BT YR 100 FF I TR WR ERRIT G|
lrg 100 kg body weight in cow family is - & 95 et R o & —
; I 25kg @) 2.5fF
| (2) 4.000kg (2) 4.000 fFIm
(3) 5.000kg @) 5.000 Ream
@) 5.500kg @ 5500 fea
01- ® Page 13 of 32
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61. The Seed Act was passed in which year in 61
India?
(1) 1956
(2) 1966
3 1976
(4) 1986
62. Which of the following is level of Lawrence  62.
Kohlberg’s Moral Development Theory?
(1) Conventional level
(2) Pre moral level
(3) Operational level

(4) Self accepted mdFal principles level

63. Whichis an example“(')—?root cutting? 63.
(1) Peach
(2) Bignonia
(3) Grape ’
(4) Fig
64. The following is the disadvantage of 64.

co-operative learning —

(1) Provide experiences that develop both
good learning and social skill.

(2) Build positive felationships among
students.

(3) Provide individual attention and
assistance to one another.

(4) Only some students do their fair share

of work.

ara § 4 emfeE fre s sl

far T ar?

(1) 1956

() 1966

@) 1976 *

@) 1986
ﬁﬁﬁi@aﬁ{aﬁﬂwwﬁﬁﬂmﬂaﬁ
(1) TEREE W

2) ud s wR

(3 dfpared |

@ mﬁﬁmmw
SIS ol BT SIBRY & —

@) srg

@) fif

(3) 3[R

@ iR

i 3§ | gedIed AR & B E —

(1) 37T AR Td AT Hierel
R % 9Tl *IgHa &

@) R ¥ GPRS weE T

(3) TP TER B \EET P U9
Jafee <o <

@) daa oo & fenf st 4 wedm
< B
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65. Match the correct pains — 65. e gEi @1 e it —

(a) Adolescence (i) Intimacy vs (a) [huREERT (1) onefRmEr 99
Isolation R UG
(b) Early adult (ii) Int,egrigy Vs (b) WRfE (i) WHTW
Despair RGP BN
(c) Middle (iii) Identity vs Role © T = (i) T T
adult Confusion YT yifey
(d Lateradult (iv) Generativity vs Y YE & (iv) SOEHar 99
Stagnation Remar -
a b c d
a b c d
) ) N (1 i ii i iv
1) i ii il iv -
. . 2) 11 S iv ii
2) iii i iv ii
3) i i i iv
3 iii i i iv
. . “) WV op, i it i
(€)) iv ii iii i N
66. Blast of rice is caused by which of the 66. &I P TiFTIT FefaReg 4 @ foa
following pathogens? RTSE & BRI BT &7
(1) Ustilago tritici (1) YR fefewrs *
(2) Pyricularia oryzae (2) uEREGARET RS
(3) Aliernaria alternata ) AR soewier
(@) Aspergillus flavus @) TERO T
67. In India share of livestock production in total 67. wWRg ¥ B P AT § WEE &1
agriculture income is - -
@) 16% N 16%
(2) 18% 2) 18%
3 20% 3 20%-
@) 22% @ 2% *
68. Which among the following is known as milky  68. Fr=ifRiRad & & b SRR AEres 3wy F
mushroom? ST ST 87
(1) Agaricus bisporus 1) TIRew Ry
(2) Volvariella volvacea (2) dicaRue dicRET
(3) Calocybe indica 3) m@ ReFT
(4) Pleurotus flabellatus @) ‘?:J,ﬁﬁ?f Y
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69. Which of the following insect does not feed  69. - P T Jgem d e @l

during adult stage? 27
(1) Lacinsect (1) " D
(2) Mango mealy bug 2) AT Al T
(3) Gundhi bug 3) Wef} T
(4) Mustard aphid @ T} uire

70. Any change in behaviour of people as aresult 70. I & w7 § omi & @9ER ¥ oig 0

of experience is called - qRads, Hedr & —
(1) Teaching (1) feEron
(2) Learning () e
(3) Training (3) ufRwEm
(4) Mapping @ FrERE

71. In direct seed sowing method, seed rate of 7L & I @eh gaE o 99 @ 9w -

paddy is -
(1) 80-100kg/ha (1) 80-100 fum. /&
(2) 60-70kg/ha () 6070 /8.
(3) 40-50kg/ha @) 40-50 R /2
4 55-65kgha () 55-65TFuL /%
72. In Vetiver, essential oil is extracted from — 72.  @E B e Frepier B U ST BT F
SUPeRT EaT &7
(1) Root 1) S8
(2) Stem ()
(3) Leaves @) uRwEi
(4) Seed @

73. Which of the following practices of the 73. ¥&®F B fPr=fafag 3§ @ B9 W ggia @
demonstration is used to compare two TANT €1 THIP DI gordl HI © forg fopar
techniques i.e. old and new? war & il gRET 3w =27

(1) Result demonstration ) qRu yeeie

(2) Method demonstration @) R asie

(3) TField visit 3) &3 BT 9T

(4) Mass communication @ o HER
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74. Pure milk production is affected by which of 74. VT # W BITAT PRE YE TH S

the following? T FHIGT BT oF
(1) Health & cleanliness of animal (1) Y BT @RI @@ A6
(2) Health & hygiene of miik man @) SR o1 TN T AW

(3) Layout and structure of dairy

3 g}L@nm Bl SIS T HLGI
(4) All of the above @)- SR 6
75. Determination of base sequence of a DNA 75. LT I & MR IIPA & Freriver 31

molecule is called - HE[ 6T © —
(1) DNA -~ finger printing O gy - B T
(2) DNA - sequencing 2 ST — FEA =T
(3) Gene — pyramiding ) Gﬂ; foryfafesr
(4) Karyotyping @) SREeEfT
76. Metalaxyl, a systemic fungicide is used to 76, HeTfIwd, TOTARTE Pacp-TEl H SUANT
control which group of diseases? frg g @ <M B PR e @ I
faa <iram 872
(1) Ascomycetes (1) TPEEREN
(2) Oomycetes Q) STERES
(3) Teliomycetes 3) hEmERES
(4) Zygomycetes @) SRR
77. Who is known as ‘Father of Canning’? 77.  Teay 381 &1 [ 5 w1 S 87
(1) Saddington Q) wRTed
(2) Peter Durand 2 4R TS
(3) N. Appert 3) Q;f{f.;,é
(4) William Underwoed @) ﬁﬁ@q ATETTS
78. Biological amelioration of Salt affected soils 78. <dv Hﬂﬁé el @1 e @R fHae
can be done by — WW%W%}?
(1) Flooding or leaching (50 \—,;-c;r:z,rm:[ 3N e
(2) Frequent irrigation (2) IR — IR Ri=E
(3) Application of farm yard manure @) TR & @E T RIFT
(4) Application of gypsum @) Read 1 T
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79. Which disease is caused t_%protein deficiency? 79. T ¥ o 998 0T 9 N I B
8?7
(1) BeriBeri D T
(2) Scurvy TR (2 b
(3) Osteomalacia s (3) SIERFISEr
(4 Kwashiorkor - @) FERRNGR
80. Determination of the proteome is called — 80. wifesim & feriRor oy e & —
(1) Proteomics (1) wifeaioey
(2) Genomics (2) ShIfEY
(3) Genetics 3) Wﬂm
(4) Karyotyping . @) SRaeEhir
81. Emitterisrelatedto- = 8. Srusie HdfT T -
(1) fertilizer 1) SHRF A
(2). irrigation 2 REEY
(3) plant activity @) uUEy fpar
(4) chemical @ <O
82. Which bio agent is generally used to control the 82, @\ 94T Tuic FRIR W 9 IqER a1
fungal diseases as seed treatment or soil &) Heirm & w9 ¥ B T 31 PRty
amendment? F B T SughT Sy wiar 27
(1) Trichoderma spp. () cE®EA |
(2) Verticillium spp. @) aRERiEm el
(3) Aspergillus spp. e (3) TRy e
(4) Fusarjum spp. Tk @ weRE whe
83. Central Institute of Agn%@fmre Enginecering is  83. @1y By IoNfafer dwem Rem € —
situated in -
() Bhopal il (1) e
(2) Jabalpur = 2) vEeR
(3 Jhansi (3 =A
(4) Roorkee 4 BsH
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84. In Mitosis, the longest phase is —

84.

(1) Metaphase 1) FEHT
(2) Prophase (2) A%
A (3) Anaphase 3) q:ﬂ-m
r. (4) Telophase @ i<k
85. Early sowing time of groundnut is - 85. Tihell P TN A i WAA B —
' (1) first week of April (1) 3 BT 9o |<E
(2) second week of May 2) ¥ % fgdg g<E
(3) first week of June (3) T BT U WxhE
(4) third week of June @) S Q?ﬁ'q e
86. The standard crop geometry of guava plants 86, 3¥®I & U e H 9S8 fhaer <@l
} 18 - Gﬂﬁf %?
| (1) 3 x3meter 1) 3x3¥eR
(2) 5x5meter @) 5x5%RER
(3) 6x6meter (3) 6xi6 AR
(4 10 x 10 meter @ 10 x 10 Hiex
87. Mango variety ‘Arunika’ is developed by - 87. M @ fe ‘erofver Relm o T & —
(1) IARI (1) NEYJARME. ERT
: (2) CIAH (2) WIAELTI. R
(3 CISH (3) WIETETE T
@ IHR @) STEIMEIAIR. R
88. Which state of India is ranked first in wool ~88. WA ¥, PIWl Wod S SR H WM
production? &
} (1) TSR
(1) Rajasthan
(2) =RImwn
z (2) Haryana
(3) Gujarat @ 1
| (4) Himachal Pradesh ) feEe e
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89.

90.

91.

92.

93.

94.

Gestation period of cow is approximately -
(1) 280 days
(2) 265 days
(3) 300 days %
(4) 310 days 7

5

The basic chromosome number is denoted as -

@y

2) x

3 =z

4 n
Which insect is not managéd by the Beauveria
bassiana? X

(1) Whitefly

(2) Thrips

(3) Aphid

4) Locust

Frost is the result of -
(1) Evaporation
(2) Condensation
(3) Sublimation
(4) Damp haze

Which of the following is not peculiarity of
Indian Agricultural Marketing?
(1) Long chain of middlefen
(2) Lack of price knowlgdge
(3) Lackof farmer’syg}on
(4) Well-developed c%gerative
marketing system
Wheat variety ‘Janak’ ‘ot wiped out from
cultivation due to which diSease?
(1) Leafrust
(2) Loose smut
(3) Karnal bunt
(4) Flag smut

89.

90.

91.

92.

93.

9.

TR T TSI AT Ty 37 &7 @i 27
1) 280 =

(2 265 &=

(3 300 f&s

@ 310 feT

T OGS HE B i far e & -
@ y

@ x

@ =z

@ 1

% Pre ST yer <@aRar IREET ZRT
ey I 87

1) B T

2 R

) =g

@ feg@

TUR o & —

(1) iRy

2 <o

3) SwHEH

@ e g

i & B9 @ wRdg S fuor 99
fa=ear =& 87

(1) Feawil P & @

(2) U Heel 9 BT ST

(3 PP WA BT IYE

4) vEaR! Ruue F olRn @gwenr

g P 5w e e AT & wRo &
H T B TE?
1 9% =
(2) < v
(3) & d¢
@ TN e
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95. Which theory says, “People construct theirown ~ 95. AN GIN BT AP TP &R ©¥ sl
understanding & knowledge of the world by R firam o g &1 AUl an 3=
experiencing things and reflecting on those oM &7 FET g &4 @ 91 Rigea I8
experiences.”? Ppadr 27

(1) Behavioural theory (1) FERIE Rigr

(2) Cognitive theory 2) < frrer

(3) Motivational theory 3) fp ﬁ:@'l'_\‘f

(4) Constructivism @ B

96. Amount of water present in plants is - 9¢. U ¥ fpw AT A W 9T S 87

1) 45% O 45%

(2) 60% (2) 60%

3) 62% 3) 62%

@ 90% @ 90%

97. Incorporation of two or more genes governing  97. NI RIS &mar @ forw ta 2 fadar &t
a single trait in a variety for resistance to Rrita o grel o A7 o 9 31fe il &
disease is known as — WHRS Hedlar & —

4y . Reverse breeding (1) et aifdw

(2) Gene pyramiding @ = R
(3) Positional cloning @) RerdRy FefiT
(4) Back cross breeding @ ST -

08. Which one of the following is not a mode of 98. Frffad & & &9 & Y WeW

_computer aided instruction? |, U el 87
(1) Game mode (1) EEwEa
(2) Tutorial mode ) Eﬂjﬁﬁﬂ'&l =T
(3) Practice mode 3 3*1'%5%_\5{ &
(4) Inquiry mode @) ‘1@ —
99. ‘Rashtriya Paramparagat Krishi Mission’ was ~ 99.  USid WX PiY iR ST gaim o —
started in - .
@ 2011-12 (1 2011-12 fr
@ 201213 (2) 2012-13F
(3) 2013-14 (3) 2013-149
@ 2015-16 @) 2015-169 ‘
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100. ‘Which test is more reliablé for estimating the 100, I IS &l BT ITA S B g
general combining ability?0¢ : P AT TRIETY 3 fvaaeg &7
(1) Open —pollinated progeny 1) et — wife |at
(2) Top cross L3 @) 0¥ e
(3) Polycross "0 (3) ufh B
(4) Single cross ! @ Rine B
101.  Apomixis in which bulbils are produced in the 101 3RS R qumd § i & ©IF W
inflorescence in place of flowers.is known as - I3 YBIIPIY Seq= BT &, HEaIT § —
(1) Recurrent apomixis 1) YIEST TS
(2) Adventitious embryo;gy () e Horar
(3) Non -—recurrent apomsixis (3) SFTEAT ST
(4) Vegetative apomixis @) T s
102. Which one is not the basic function of 102. PF—al WaR &7 gaf B T 82
commurication?
(1) Information @) =
(2) Command (2) 3=
(3) Inflience 3 "THE
(4) Evaluation: @) YIie
103. Disease Pellagra is related’o - 103. TeRn T Hete & —
(1) VitaminB, 1 fefs & 2
(2) Vitamin B, } fip 2 o & —1
(3) Vitamin C v (@) e &
@) Vitaminé BT @ R
104. Which one is not a PCR! Based molecular 104. ®F W vo L ¥lamR. amIRa A0TSR AT
marker techn"iqi!é? 5 T Th-ilD ol 87
(1) RAPD 5 :3 @) IRYEE
(2) AFLP - (2) TTHETAM
(3) SSR 7F (3) TATEIR,
(4 RELP . ‘P @) SRUPTadL
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T

105.

106.

107.

108.

Seed rate of hybrid Tomato is -
(1) 150-200gm
(2) 250-300gm
(3) 400-500 gm
@) 600-700 gm

In India Phalaris minor developed resistance

against which herbicide?
1y 2,4-D
(2) Atrazine
(3) Butachlor

(4) -Isoproturon

Which river is related to buffalo’s breed ‘Nili’?
(1) Ganga J
(2) Sutlej
(3) Ravi
(4) Vyas

Which of the following statement is not correct
in tespect of contribution of agriculture in
India?

(1) The share of agriculture has got

declined in last decades.

(2) Dependence for employment on
agriculture has got increased in last
decades.

(3) Agriculture has been important source
of foreign exchange.
(4) Self-dependence has increased in food

grain production.

109. - Rain shelters«aré used for production of —

(1) Pulses and oilseeds

(2) Vegetables, flowers and fruits
(3) Cereals and millets

(4) Fibre and forage crops

105.

106.

107.

108.

109.

1) 15020071

(2) 1250300 I

(3) 400 - 500 7

(4) 600 —700 7T

IRG ¥ DR AN W 59 weann &
Raere wferyy G S &?

@D 2,4-—9

(2 vgEIfsH

@3) R

@) siSEnicRA

¥ &Y wRa el B ey e T 9 87
(1) T

(2) e

(3 <@

4) =N

PE—NT BT ARG Iefae # oY B
ANTEF & Fde H a6 87

1) free et ¥ srferawen § B &1
fewar &9 g’ ®1

(2) Tvd ot § AR & fog i
R feivar 9 21

3) SN sl @R &1 ugE Sk @l
gl

@ G S § arsTHRar 981
gl

foram < 87

(1) T od RiersT

(2) fesTEr, Gel Td Bel

(3) oFIS U9 AiC SIS

(4) = U@ AR HEA
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110. Soil depth for Orange cultivation is - 110. WX @1 =Rl & forg gfy & TevE & —
() 2mt (1) 2 ¥R
(2) 3mt . 2) 3¥=ex
3) 4mt. (3) 49
5
(4) 5mt @) 5¥ex
111. ‘Paraquat’ is - K 111, ‘R § —
(1) weedicide (1)  ERTTARATER
(2) insecticide 2 wiearEh
(3) fungicide (3) FEHIEN
(4) growth regulator @) Fg}'&r s
112. Which of the following sbreed of cow is 112. = ¥ 4 - 19 ¥ T 99 § 9%
heaviest? B B 87
@) Gir 1 R
(2) Tharparkar (2) YRIRHR
(3) Kankrej (3) Sl
(4) Sindhi @ =h
113. Inreproduction organs of cow, living period of 113. T & W= &7 ¥, SRS D ST & A
ovam is - A & —
(1) 80 hs. (1) 80ww
(2) 100 hrs. (2) 10099
(3) 110 hrs. 3) 110
(4) 120 hrs. @) 12002
114. Word climate is related to - 114, AR g GG & —
(1) Latin L2ie 1) wfes
(2) English g (2) <fEEh
(3) Sanskrit Rii35) (3) Tpa
4) Greek - @ e
115. Central Institute of Medigipal and Aromatic 115, =i el oo el wrew <o fer
Plant (CIMAP) is situated in which city? e H e &7
(1) Jaipur (1) wER
(2) Bhopal i @ e
(3) Lucknow B) TETE
(4) Patna @) TeT
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116. NABARD is established on the basis of 116. TS PLeT fby Al & R W
recommendation of which committee? Y TS?
(1) Dantwala Committee 1) Tiqarer SRty
(2) Shivaraman Committee (2 RrorE afiy
(3) C. H. Hanumantha Rao Committee @) T ETW T TR
(4) Krishnamachari Committee @ FETEE R
117. Fully mature red or yellow fruit stage of Date  117. &SR ¥ el & gof RoRm oy dieht ar
is known by - I STaRIT & —
(1) Kimri 1
(2) Khalal (2 Gad
(3) Rutab 3) v
4) Tamar 4 TR
118, Optimum brooder temperature at height of 2" 118, FSX &I 7l BIc B ¥ SIS W ITHA
above the floor level should be - TTHHH FG7 T AMET?
() 95-100°F @) 95— 100°F
(2) 90-95°F ' (2) 90-95°F
(3) 100 102°F (3) 100~ 102°F
4) 98-107°F 4) 98-107°F
119. The chromosomes of a cell arranged according 119, TdIS & TR AR HIRHT ® TORE
to their length is known as - FEA & —
(1) Karyotype 1) IRIEEY
(2) Isotype (2) 3SAREY
(3) Idiotype (3) =Ry
(4) Phenotype @) sy
120. Which Granth is related to weather 120, WrEw GaFHIT & WK Tor & —
forecasting? w
(1) Rigveda 1) =g
(2) Atharvaveda Q) SRR
(3) Brihat Sanhita @3) g=a s
(4) Samaveda @) T
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121. Sugar percentage in temiporary preservation 121. 3l uRwerr Ay & &= = wrEn fFa=
method is - gferer T BRiT 57
1 20-22% By (1) 20-22 9RwE
(2) 25-30% i (2) 25-30 yfaerT
3) 32-40% @) 32— 40 T 3
@) 42-50% _— @) 42-50 wfier
122. Which of the following is not included in the 122. fiferiRaT # & BT ¥ U I, 3T UedTa
test of ‘3 R’s credit principles’? F e S &7
(1) Return from investment 1) o9 & gfiea
(2) Repayment capacity @) TR &
(3) Risk bearing ability (3) whRew T8 &war
(4) Regain of capital @ oot gder
123. The response of a plant to the relative lengthof 123, W&Ier iR 3R &l o we i & forg
light and dark period is called - d B Tfafshar ST wET oI § —
(1) Photoperiodism Q) Sifgemiferar
(2) Photosynthesis ) . (2) UG HeEN
(3) Respiration (3) o
(4) Accumulation @) dT
124. Weight of ewe of ‘Chokla’ breed is - 124. ¥S 9 AGar el Py AGT 67 997 & —
(1) 10-12kg (1) 10-12 fFm
(2) 14-16kg i (2) 14-16 fB.
(3) 18-22kg 3 &fs 3) 1822 7%
(4) 24-32kg b @ 24-32 . ' '
125. Intensive Agricultural 'Disfiict Programme 125. & Py foren sEiwd @E TS o o/
(IADP) is also known as T 1 5 w9 # W7 I 89 «
(1) Sheep Development Pfogramme 1) 9 e erieg !
(2) Package Programme’ 2 o9 sElww P
(3) Poultry Developmer'{iﬁ’rogramme 3) GaEE RPN & i
(4) Hill Area Developm;éﬁ?t Programme @) TERE & R W M’,'
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126. Leghom breed is related to which class of 126. e, o1 G @ fbw ol & Heftr &7

poultry?
(1) American 1) R
(2) English @) 3l
3) Asiatic 3 TREE
4) Mediterranean @) IR
127. For a study of farming system, the best PRA  127. Y Yoell @& IR & foy waw aresT
excercise is — IR T. 3T B -
(1) Transect walk (1) ééﬂf i
(2) Resource mapping Q) EEES. AFRE
(3) Timeline @) T X
(4) Venn diagram @ ¥ sm
128. Commercial propagation method in Ber is - 128. ¥R ¥ amERE v AR S -
(1) Inarching : @ R
(2) ‘T’ budding @) & sfeera
(3) Chip budding (3) f BB
@) Crown grafting @) PR A
129. Which onme is group approach in 129, HIR ¥ WE ?{fﬁiﬁm BT &7
communication?
(I) Personal letters (@ =
(2) Field days @ & f
(3) Flash - cards @) o PR
(4) Circular letters @) HEF?
130. Which fibre is called Queen of Textiles? 130. 59 ¥ &1 o= B AT FRI ST 87
(1) Cotton fibre (1) g9
[ (2) Jute fibre 2) U ¥
(3) Sunnhemp fibre 3) -\qﬂgd -QQ"
(4) Silk fibre @ XTE X

oI
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131. Theory of learning, which totally depends on 131. W & fygr, o ¥ a¥8 9 <& ATg
observable behaviour is associated with, which FaER W N owr g 9eq o o9
of the Theory of Learning? g 9 91 57
(1) Cognitivist . 1) SES
(2) Developmental @) frerTes
(3) Behaviourist (3) SEERAE
(4) Constructivist @ Rffaae a1 wemEe
132. ‘New leaf’ is a cry gene incorporated 132. ‘= &% TH HIy o9 UAA ZFAol-SH
transgenic variety of — foer € —
(1) Tomato (1) TERX
(2) Potato v (2) e
(3) Maize . R
) Cotton @) Bur
133. Who developed Branching Programmed 133, ¥E¥ aifisiid oYM Sftre e
instruction learning? T far?
(1) Skinner A1 TR
(2) Thorndike 2 gFeE®
(3) Tolman (3) <N
(4) Crowder @) PR
134. 'Which one is physical mutagen? 134. BT WP 4ifis SaRadsm 27
(1) Ethidium bromide 1) vofeaw SmEs
(2) Sodium azide 2) wfeaq s
(3) Ethyl methanesulfonatesy 3) TR AEEPRT
(4) Gamma rays — (4) T fbeet
135. Knowledge of educatiopa{ﬁg%ychology isnot 135. tw RmEe & forv Brr afds™ &1 o9
essential for a teacher because it — JATLIF BT B, WS I8 —
(1) helps to understand tﬁ@?yllabus 1) Roeg T § 98T $1ar
(2) helps to understand th student’s style @) el @ wra T 4 qer
; Cacikd
(3) helps to compare the students (3) Rt o B 3 wE
(4) helps to understand ledmer and his BT &
physical qualities @ R w TS ARG Tﬁ
DI G A FERAT B ©
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136. How many worker bees are there ina colony of 136. WgAGE] &1 Q& Hiary A o e

honey bee? ngﬁng"’[ T4
(1) 10000 (1) 10000
(2 15000 (2) 15000
(3) 60000 (3) 60000
(4) 90000 (4) 90000
137. Depth of Nursery soil saturated by formalin 137. UIERIET B A BT BT ¥ fha TE0s
is - TP G P 57
1 8cm (1) 83
(2) 10cm (2) 109,
3) 1Z2cm @) 1239
@4 15cm @ 153
138. Which of the following chemical is currently 138, {7 ifdsa § & =T T ao9M # EWfT
used as rtefrigerant for preserving frozen 8 &7 wiaer (Refrigerant) A & HF #
semen? foram <imar 27
(1) Liquid carbon dioxide 1) T oEE SR
(2) Solid carbon dioxide (2) °oN DT SEMfEES
(3) Solid nitrogen - @) o TS
(4) Liquid nitrogen @ = %I'I?&’IFH
139. “Nutkhut’ is the variety of - 139. ‘Teue o & -
(1) Miniature rose (1) AR eme
(2) Climber rose (2) o EE
(3) Polyantha rose 3) tl‘fﬁig?@ﬂ
| (4) Floribunda rose @) W%J@ﬂ?;:
‘ 140. Slip stage is a maturity index for which 140. R< rawl e wesfT % forg vo gRueaar
, vegetable? DD &7
'f (1) Chilli @
(2) Muskmelon @) T
‘ (3) Watermelon @) g
(4) Brinjal @
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141. A genotype which is uscc;l)5 ag,a-maintainer for 141. UF SIHEEY Sl =] 920 W1 & forg 3RS
the male sterile line - P WY A SUIRT fHar W | —
(1) A-line vie () T -— &
(2) B-line al @ € — ¥
(3) C—line Ut 3) @ — v
. 1
(4) D-line @) | — ¥
142. Percentage of organic matter in mireral soils 142. @&Ta1 qamwRI A Sigier TSRl # yRkEm =0
is - niy Bl & —
(1) less than 20% B @D 20% 9 BH
@) lessthan28% > @) 28%Q T
@) less than 32% i 3 32%W w
(4) less than 40% @  40% % T
143. Apis mellifera belongs to which family? 143. Ufw Afesw 59 o deftg 82
(1) Tachinidae ; 1 TP
(2) Apidae (2) unst
(3) Aphididae + 3 uiblEt
(4) Cymbidae d @ RERS
144. Ricardian theory is related to - 144, ReEaT Rigra b &t 87
(1) Rent (1) <=
L —C.
(2) Wage
g - T 2) ‘:IGiEz'fl
(3) Interest 3) ==
145. Fruit type of Guava is - *1%Z 145. 3OS © Bl BT TBN & —
1) Bermy S 1) w=E
s
(2) Drupe (2) sfsa
(3) Nut 3) EiKil
(4) Balusta @) g
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146. Amount of Sulphur reaching the soil by rain 146, a9 & ¥ § verp ugach & —
is -
1) 2-3kgha (1) 23fBu /%
(2) 7-8kg/ha () 7-81BuL/%.
(3) 10-12kg/ha (3) 10-12 757 /%
() 13-15kg/ha @ 13-15fFuT /%
147. Pulse rate of fowl is - 147. FHaF@e o TSl AR & —
1) 50-80 (1) 50-80
(2) 90-100 (2) 90-100
3) 100-120 (3) 100-120
4) 200-400 (4) 200-400
148. Which component does not come under 148. =1 # | P HRF H9q A9 e
Meteorological variables? IRl B ST el 3T 87
(1) Temperature (1) dqmupd
(2) Relative humidity @ <R s
(3) Precipitation @) IR (ot @ W)
4 Soil @ e
149. Average temperature of Okra cultivation - 149. g & &<t & R eli|a auHE & —
(1) 12-15°C 1 12-15° 9.
(2) 15-18°C (2) 15-18° =
@) 20-22°C @) 20-22° ‘
@) 25-30°C @ 25-30° 9.
150. Trichogramma minutum belongs to which 150. TIEGRMA e {59 o ¥ wakq &7
family?
(1) Eulophidae D IJAss
(2) Trichogrammatidae (2) TR
(3) Formicidae @) Bk
(4) Bombycidae @) SRS
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Space for Rough Work /3% &1 & ford wrrg
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